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SECTION A (120 marks) 
 

Answer three questions from this section. 
Each question carries 40 marks. 

 
 
 
1. In an experiment to measure the acceleration due to gravity using a simple pendulum, a student 

obtained values for the length l of the pendulum and the corresponding values for the periodic time T. 
 
The student plotted the following points, based on the recorded data. 
 

 
  0.5 0.6 0.7 0.8 0.9 1.0 1.1 l/m 
 
 
Describe how the student obtained a value for the length of the pendulum and its  
corresponding periodic time. (18) 
 
Draw the appropriate graph on this examination paper and use it to calculate a value for g,  
the acceleration due to gravity. (15) 
 
Give two factors that affect the accuracy of the measurement of the periodic time. (7) 
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2. In an experiment to measure the focal length of a converging lens, a student measured the  
image distance v for each of four different values of the object distance u. 
 
The table shows the data recorded by the student. 
 

u/cm 12.0 18.0 23.6 30.0 

v/cm 64.5 22.1 17.9 15.4 

 
Describe, with the aid of a labelled diagram, how the student obtained the data. (15) 
 
Why is it difficult to measure the image distance accurately? (4) 
 
Using all the data in the table, find the value for the focal length of the lens. (15) 
 
Why is it difficult to measure the image distance when the object distance is less than 10 cm? (6) 

 
 
 
 
 
 
3. In an experiment to investigate the variation of the fundamental frequency f of a stretched string 

with its length l, the following data were recorded. 
 

f / Hz 95 102 114 126 141 165 194 232 

l / m 0.603 0.553 0.503 0.453 0.403 0.353 0.303 0.253 

 
How were the data obtained? (15) 
 
Using the data, draw a suitable graph on graph paper to show the relationship between  
the fundamental frequency of the stretched string and its length. (12) 
 
 
The fundamental frequency of a stretched string depends on factors other than its length.   
Name one of these factors and give its relationship with the fundamental frequency. 
 
If you were doing an experiment to establish the relationship between the fundamental frequency  
of a stretched string and this other factor, how would you obtain the relevant data? (13) 
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4. The following is part of a student’s report on an experiment to investigate the variation of  
the current I with potential difference V for a semiconductor diode. 

 
“I set up the apparatus as shown in the circuit diagram.  I measured the current 
flowing through the diode for different values of the potential difference.   
I recorded the following data.” 
 

V / V 0 0.50 0.59 0.65 0.68 0.70 0.72 

I / mA 0 3.0 5.4 11.7 17.4 27.3 36.5 

 
Draw a circuit diagram used by the student. 

How did the student vary and measure the potential difference?  (15) 
 
Using the data, draw a graph to show how the current varies with the potential difference for  
the semiconductor diode. 
Does the resistance of the diode remain constant during the investigation?  Justify your answer. (18) 
 
The student continued the experiment with the connections to the semiconductor diode reversed.  
What adjustments should be made to the circuit to obtain valid readings? (7) 
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SECTION B (280 marks) 
 
Answer five questions from this section. 
Each question carries 56 marks. 
 
 
 

5.  Answer any eight of the following parts, (a), (b), (c), etc. 

(a) Cork and Sligo are about 330 km apart by road.  Using the map of Ireland shown on page 4, 
estimate the displacement of Sligo from Cork.  The scale of the map is 1 cm to 37.5 km. 

 
(b) A pendulum moves with simple harmonic motion.  Give another example of a body that 

moves with simple harmonic motion. 
 
(c) The European aerospace group EADS is developing a hypersonic jet aircraft that  

will fly at four times the speed of sound, 330 m s–1.  Express the speed of the aircraft  
in kilometre per hour. 

 
(d) What is the focal length of a lens which has a power of –2 m–1? 

 
(e) List three conditions necessary for an observer to see a rainbow. 

 
(f) How is energy transferred from the sun to the earth? 
 
(g) A person smokes a cigarette at the entrance to a building.  Explain how a significant  

amount of the smoke from the cigarette can enter the building. 

 
(h) Sketch the magnetic field due to a current in a solenoid. 

 
(i) It takes 30 minutes for a 100 g sample of a radioactive isotope to decay to 12.5 g. 

What is the half-life of the radioisotope? 

 
(j) Which Irish physicist is associated with the development of the linear accelerator? 

or 

 With what invention is the Irish physicist Nicholas Callan associated? 
 

(8 × 7) 
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6. On 16 August, 1960, Joseph Kittinger established a record for the highest 
altitude parachute jump.  This record remains unbroken. 
Kittinger jumped from a height of 31 km.  He fell for 13 seconds and then 
his 1.8-metre canopy parachute opened.  This stabilised his fall.  Only four 
minutes and 36 seconds more were needed to bring him down to 5 km, 
where his 8.5-metre parachute opened, allowing him to fall at constant 
velocity, until he reached the surface of the earth.  

(Adapted from http://www.centennialofflight.gov) 
Automatic camera recording  

of Kittinger as he jumped. 

 

(i) Calculate the acceleration due to gravity at a height of 31 km above the surface of the earth. 
 (12) 
(ii) What was the downward force exerted on Kittinger and his equipment at 31 km,  

taking their total mass to be 180 kg? (6) 
 
(iii) Estimate how far he fell during the first 13 seconds.   

What assumptions did you take in this calculation? (12) 
 
(iv) What was his average speed during the next 4 minutes and 36 seconds? (9) 
 
(v) Assuming that the atmospheric pressure remains constant, how much was the force on a 

hemispherical parachute of diameter 8.5 m greater than that on a similar parachute of  
diameter 1.8 m? (9) 

 
(vi) Calculate the upthrust that acted on Kittinger when he reached constant velocity in the last 

stage of his descent (assume g = 9.81 m s–2 during this stage). (8) 
 
(radius of earth =6.36 × 106 m; mass of earth = 5.97 × 1024 kg)  
 
 

7. 
                              

105 106 107 108 109 1010 1011 1012 1013 1014 1015 1016 1017 1018 Hz 

 
The diagram shows a simplified version of the electromagnetic spectrum.  
Name the sections labelled A and B in the diagram. 
Describe how to detect each of these radiations. (15) 
 
An electromagnetic radiation has a wavelength of 4 m.   
Name the section of the electromagnetic spectrum in which this radiation is located. (9) 
 
Distinguish between interference and diffraction.  
Can a diffraction grating which diffracts light also diffract X-rays?  Justify your answer. (21) 
 
Light travels as a transverse wave.  Name another type of wave motion and give  
two differences between these two types of wave motion. (11) 
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R 

Y 

8. Nuclear fission reactors are used as an energy source in many parts of the world, but it is only 
recently that the use of nuclear fusion as a possible power source is achieving some 
encouraging results. 
The ITER nuclear facility at Caderache in south-east France is a global collaboration that has 
been formed to “demonstrate that fusion is an energy source of the future”.  It is expected to 
begin testing in 2016. 

Energy can be produced in a fusion reaction by combining a deuterium and a tritium nucleus 
as follows: 
 

 
2
1 H   +  3

1 H   →   4
2 He   +   n  +  energy 

 
 

(i) Distinguish between nuclear fission and nuclear fusion. (12) 
(ii) What are the advantages of fusion over fission in terms of fuel sources and 

reaction products? (12) 
(iii) How much energy is produced when a deuterium nucleus ( 2

1 H), combines with 

a tritium nucleus ( 3
1 H)? (18) 

(iv) Calculate the force of repulsion between a deuterium and a tritium nucleus 
when they are 2 nm apart in free space. (9) 

(v) Fusion can only take place at very high temperatures.  Explain why. (5) 

 

9. Define resistance.  
(i) Two resistors of resistance R1 and R2 are connected in series.  Derive an expression 

for the effective resistance of the two resistors in terms of R1 and R2. (18) 
(ii) Two 4 Ω resistors are connected in parallel.   

Draw a circuit diagram to show how another 4 Ω resistor could be arranged with 
these two resistors to give an effective resistance of 6 Ω. (9) 

 
(iii) A fuse is a resistor used as a safety device in a circuit.  How does a fuse operate? (11) 

 
A Wheatstone bridge circuit is used to measure the resistance of an unknown resistor R.  
The bridge ABCD is balanced when X = 2.2 kΩ, Y = 1.0 kΩ and Z = 440 Ω. 
 
 
 
 
 
 
 
 
 
 
 

(iv) What test would you use to determine that the bridge is balanced? (6) 

(v) What is the resistance of the unknown resistor R? (6) 

(vi) When the unknown resistor R is covered by a piece of black paper, the bridge goes 
out of balance.  What type of resistor is it?  Give a use for this type of resistor. (6) 

A C 

B 

D 

+V 

0 V 

X 
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10. Answer either part (a) or part (b). 
 
(a) (i) What is a positron? (6) 

(ii) When a positron and an electron meet two photons are produced.   
Write an equation to represent this interaction. (6) 

(iii) Why are photons produced in this interaction? 
Explain why two photons are produced.   
Calculate the minimum frequency of the photons produced. 
Explain why the photons produced usually have a greater frequency than your 
calculated minimum frequency value. (24) 

(iv) Why must two positrons travel at high speeds so as to collide with each other? 
How are charged particles given high speeds? (12) 

(v) Explain why two positrons cannot annihilate each other in a collision. (8) 

 

 
(b) Draw a labelled diagram to show the basic structure of a bipolar transistor.  Indicate 

the difference in the composition of the parts of the transistor that you have drawn. (18) 
 

The diagram shows part of a circuit in which a transistor is to be used as a voltage inverter. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
(i) Copy the diagram into your answerbook and complete the circuit diagram.   

Label each part of the circuit.   
Indicate on your diagram the terminals used for the input and output voltages. (15) 

 
(ii) Draw a sketch of an input voltage and its corresponding output voltage,  

using the same axes and scale. (9) 
 

(iii) A voltage inverter can be used as a NOT gate.   
Draw the symbol of a NOT gate. 
Draw the truth table for a NOT gate. (9) 

 
(iv) Give another application of a transistor. (5) 
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11. Read the following passage and answer the accompanying questions. 
 

Windmills have been used for thousands of years to grind grain but the first attempts to use wind 
turbines to generate electricity were not made until the late 1800s.  Viable large scale wind 
turbines were not produced until the 1980s.  At the moment about 12% of Ireland’s electricity 
needs are met by wind energy and it is planned to increase this to 33% by 2020. 
 
Wind is a source of renewable energy and is now one of the most cost-effective 
methods of electricity generation. 
 
The power P of the wind can be calculated from P = ρAv3 where ρ is the density of 
the air, A is the area the wind acts on and v is the speed of the wind.  In theory it is 
possible to extract 58% of this energy in a wind turbine.  Much of the loss occurs as 
the wind is slowed down rather than stopped as it passes the turbine. 
 
The rotating blades of the turbine transfer their energy to an a.c. generator, which 
produces electricity by electromagnetic induction.  The resulting alternating supply 
has to be changed to match the 230 V, 50 Hz that is used for electrical supply in 
Ireland. 
 
Many people are concerned about the noise associated with wind turbines.  Better 
blade construction has led to reduced noise.  At about 150 m from a turbine, typical 
sound intensity levels are 45 dB.  This reduces to 42 dB at about 200 m away.  
These values compare favourably with values of around 60 dB in a busy office. 
 

(Adapted from: Renewable Energy, Edited by Godfrey Boyle, Oxford University Press in association with 
The Open University.) 

 
 
 
(a) What is the effect on the power of the wind if the wind speed is doubled? 
 

(b) Why is it not possible to extract all of the energy in the wind striking a wind turbine blade? 
 

(c) What is electromagnetic induction? 
 

(d) How is the output voltage of a wind turbine changed to 230 V a.c.? 
 

(e) Estimate the factor by which the sound intensity changes when you move from a 
position which is about 200 m away to a position which is about 150 m away from a 
typical wind turbine. 
 

(f) What is the tip speed (the linear velocity of the outer end) of a blade of radius 30 m 
when it completes a revolution every 3 seconds? 

 

(g) Small scale wind turbines are sometimes used to charge batteries.   
The a.c. output voltage has to be converted to a d.c. voltage.  How is this achieved? 

 

(h) Name one other renewable source of energy. 
(8 × 7) 
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12 Answer any two of the following parts (a), (b), (c), (d). 
 

(a) An Olympic hammer thrower swings a mass of 7.26 kg at the end of a light inextensible 
wire in a circular motion.  In the final complete swing, the hammer moves at a constant 
speed and takes 0.8 s to complete a circle of radius 2.0 m. 

 
(i) What is the angular velocity of the hammer during its final swing? (6) 
(ii) Even though the hammer moves at a constant speed, it accelerates.  Explain. (4) 
 
Calculate 
(iii) the acceleration of the hammer during its final swing (9) 
(iv) the kinetic energy of the hammer as it is released. (9) 

 

 
Pat O’Callaghan of Kanturk, who won two Olympic gold medals for the hammer throw. 

 
 

(b) The diagram shows a ray of light as it leaves a rectangular block of glass.  As the ray of light 
leaves the block of glass, it makes an angle θ with the inside surface of the glass block and an 
angle of 30o when it is in the air, as shown. 

 
 
 
 
 
 
 
 
 
 

(i) If the refractive index of the glass is 1.5, calculate the value of θ. (12) 

(ii) What would be the value of the angle θ so that the ray of light emerges parallel  
to the side of the glass block? (9) 

(iii) Calculate the speed of light as it passes through the glass. (7) 

30o 

θ 
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(c) The graph shows the variation in temperature θ of 150 g of crushed ice when it was supplied  
with energy ΔE at a constant rate. 
 

 

 
 10 20 30 40 50 60 ΔE /kJ 

 

(i) Explain the shape of the graph. (12) 

(ii) Describe how energy could have been supplied at a constant rate. (6) 

(iii) Using the graph, estimate the specific latent heat of fusion of ice. (10) 

 
 
 
 

(d) (i) Draw a diagram to show the structure of a photocell. (12) 

(ii) Describe an experiment to demonstrate how the current through a photocell can  
be increased. (12) 

(iii) Give an application of the photoelectric effect. (4) 
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–1 

1 

0 

θ / oC 



page 12 of 12 

 

Blank Page 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles false
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /AcademyEngravedLetPlain
    /ACaslonPro-Bold
    /ACaslonPro-BoldItalic
    /ACaslonPro-Italic
    /ACaslonPro-Regular
    /ACaslonPro-Semibold
    /ACaslonPro-SemiboldItalic
    /AGaramondPro-Bold
    /AGaramondPro-BoldItalic
    /AGaramondPro-Italic
    /AGaramondPro-Regular
    /AgencyFB-Bold
    /AgencyFB-Reg
    /Algerian
    /AmazeBold
    /AmazeItalic
    /AmazeNormal
    /Arial-Black
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialRoundedMTBold
    /ArialUnicodeMS
    /ArnoPro-Bold
    /ArnoPro-BoldCaption
    /ArnoPro-BoldDisplay
    /ArnoPro-BoldItalic
    /ArnoPro-BoldItalicCaption
    /ArnoPro-BoldItalicDisplay
    /ArnoPro-BoldItalicSmText
    /ArnoPro-BoldItalicSubhead
    /ArnoPro-BoldSmText
    /ArnoPro-BoldSubhead
    /ArnoPro-Caption
    /ArnoPro-Display
    /ArnoPro-Italic
    /ArnoPro-ItalicCaption
    /ArnoPro-ItalicDisplay
    /ArnoPro-ItalicSmText
    /ArnoPro-ItalicSubhead
    /ArnoPro-LightDisplay
    /ArnoPro-LightItalicDisplay
    /ArnoPro-Regular
    /ArnoPro-Smbd
    /ArnoPro-SmbdCaption
    /ArnoPro-SmbdDisplay
    /ArnoPro-SmbdItalic
    /ArnoPro-SmbdItalicCaption
    /ArnoPro-SmbdItalicDisplay
    /ArnoPro-SmbdItalicSmText
    /ArnoPro-SmbdItalicSubhead
    /ArnoPro-SmbdSmText
    /ArnoPro-SmbdSubhead
    /ArnoPro-SmText
    /ArnoPro-Subhead
    /BangleBold
    /BangleItalic
    /BangleNormal
    /BankGothicBT-Light
    /BankGothicBT-Medium
    /BartBold
    /BartItalic
    /BartNormal
    /BaskOldFace
    /Bauhaus93
    /BellGothicStd-Black
    /BellGothicStd-Bold
    /BellMT
    /BellMTBold
    /BellMTItalic
    /BerlinSansFB-Bold
    /BerlinSansFBDemi-Bold
    /BerlinSansFB-Reg
    /BernardMT-Condensed
    /BickhamScriptPro-Bold
    /BickhamScriptPro-Regular
    /BickhamScriptPro-Semibold
    /BiminiBold
    /BiminiItalic
    /BiminiNormal
    /BirchStd
    /BlackadderITC-Regular
    /Blackletter686BT-Regular
    /BlackoakStd
    /BodoniMT
    /BodoniMTBlack
    /BodoniMTBlack-Italic
    /BodoniMT-Bold
    /BodoniMT-BoldItalic
    /BodoniMTCondensed
    /BodoniMTCondensed-Bold
    /BodoniMTCondensed-BoldItalic
    /BodoniMTCondensed-Italic
    /BodoniMT-Italic
    /BodoniMTPosterCompressed
    /BookAntiqua
    /BookAntiqua-Bold
    /BookAntiqua-BoldItalic
    /BookAntiqua-Italic
    /BookmanOldStyle
    /BookmanOldStyle-Bold
    /BookmanOldStyle-BoldItalic
    /BookmanOldStyle-Italic
    /BookshelfSymbolSeven
    /BradleyHandITC
    /BritannicBold
    /Broadway
    /BroadwayBT-Regular
    /BrushScriptMT
    /BrushScriptStd
    /Bunchl1
    /Bunchlo
    /Calibri
    /Calibri-Bold
    /Calibri-BoldItalic
    /Calibri-Italic
    /CalifornianFB-Bold
    /CalifornianFB-Italic
    /CalifornianFB-Reg
    /CalisMTBol
    /CalistoMT
    /CalistoMT-BoldItalic
    /CalistoMT-Italic
    /Calligraphic421BT-RomanB
    /Cambria
    /Cambria-Bold
    /Cambria-BoldItalic
    /Cambria-Italic
    /CambriaMath
    /Candara
    /Candara-Bold
    /Candara-BoldItalic
    /Candara-Italic
    /Castellar
    /CataneoBT-Regular
    /Centaur
    /Century
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CenturySchoolbook
    /CenturySchoolbook-Bold
    /CenturySchoolbook-BoldItalic
    /CenturySchoolbook-Italic
    /ChaparralPro-Bold
    /ChaparralPro-BoldIt
    /ChaparralPro-Italic
    /ChaparralPro-Regular
    /CharlemagneStd-Bold
    /ChasmBold
    /ChasmItalic
    /ChasmNormal
    /Chiller-Regular
    /CityBlueprint
    /ColonnaMT
    /ComicSansMS
    /ComicSansMS-Bold
    /CommercialPiBT-Regular
    /CommercialScriptBT-Regular
    /Complex
    /Consolas
    /Consolas-Bold
    /Consolas-BoldItalic
    /Consolas-Italic
    /Constantia
    /Constantia-Bold
    /Constantia-BoldItalic
    /Constantia-Italic
    /CooperBlack
    /CooperBlackStd
    /CooperBlackStd-Italic
    /CopperplateGothic-Bold
    /CopperplateGothic-Light
    /Corbel
    /Corbel-Bold
    /Corbel-BoldItalic
    /Corbel-Italic
    /CountryBlueprint
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Courierx
    /CurlzMT
    /DolphinBold
    /DolphinItalic
    /DolphinNormal
    /Dutch801BT-Bold
    /Dutch801BT-BoldItalic
    /Dutch801BT-ExtraBold
    /Dutch801BT-Italic
    /Dutch801BT-Roman
    /EccentricStd
    /EdwardianScriptITC
    /Elephant-Italic
    /Elephant-Regular
    /EngraversMT
    /ErasITC-Bold
    /ErasITC-Demi
    /ErasITC-Light
    /ErasITC-Medium
    /EstrangeloEdessa
    /EurasiaBold
    /EurasiaItalic
    /EurasiaNormal
    /EuroRoman
    /EuroRomanOblique
    /FelixTitlingMT
    /FlatBrushBold
    /FlatBrushItalic
    /FlatBrushNormal
    /FootlightMTLight
    /ForteMT
    /FranklinGothic-Book
    /FranklinGothic-BookItalic
    /FranklinGothic-Demi
    /FranklinGothic-DemiCond
    /FranklinGothic-DemiItalic
    /FranklinGothic-Heavy
    /FranklinGothic-HeavyItalic
    /FranklinGothic-Medium
    /FranklinGothic-MediumCond
    /FranklinGothic-MediumItalic
    /FreestyleScript-Regular
    /FrenchScriptMT
    /Gaeilge1Normal
    /GalantBold
    /GalantItalic
    /GalantNormal
    /Garamond
    /Garamond-Bold
    /Garamond-Italic
    /GaramondPremrPro
    /GaramondPremrPro-It
    /GaramondPremrPro-Smbd
    /GaramondPremrPro-SmbdIt
    /Gautami
    /GazeBold
    /GazeItalic
    /GazeNormal
    /GDT
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /GiddyupStd
    /Gigi-Regular
    /GillSansMT
    /GillSansMT-Bold
    /GillSansMT-BoldItalic
    /GillSansMT-Condensed
    /GillSansMT-ExtraCondensedBold
    /GillSansMT-Italic
    /GillSans-UltraBold
    /GillSans-UltraBoldCondensed
    /Glanchl
    /Glanchlo
    /Glchl
    /GloucesterMT-ExtraCondensed
    /GothicE
    /GothicG
    /GothicI
    /GoudyOldStyleT-Bold
    /GoudyOldStyleT-Italic
    /GoudyOldStyleT-Regular
    /GoudyStout
    /GreekC
    /GreekS
    /Haettenschweiler
    /HarlowSolid
    /Harrington
    /HighTowerText-Italic
    /HighTowerText-Reg
    /HoboStd
    /HolidayPiBT-Regular
    /Impact
    /ImprintMT-Shadow
    /InformalRoman-Regular
    /ISOCP
    /ISOCP2
    /ISOCP3
    /ISOCPEUR
    /ISOCPEURItalic
    /ISOCT
    /ISOCT2
    /ISOCT3
    /ISOCTEUR
    /ISOCTEURItalic
    /Italic
    /ItalicC
    /ItalicT
    /JokermanLetPlain
    /Jokerman-Regular
    /JuiceITC-Regular
    /Kartika
    /KeltBold
    /KeltItalic
    /KeltNormal
    /KozGoPro-Bold
    /KozGoPro-ExtraLight
    /KozGoPro-Heavy
    /KozGoPro-Light
    /KozGoPro-Medium
    /KozGoPro-Regular
    /KozMinPro-Bold
    /KozMinPro-ExtraLight
    /KozMinPro-Heavy
    /KozMinPro-Light
    /KozMinPro-Medium
    /KozMinPro-Regular
    /KristenITC-Regular
    /KunstlerScript
    /Latha
    /LatinWide
    /LetterGothicStd
    /LetterGothicStd-Bold
    /LetterGothicStd-BoldSlanted
    /LetterGothicStd-Slanted
    /LiberateBold
    /LiberateNormal
    /LithosPro-Black
    /LithosPro-Regular
    /LucidaBright
    /LucidaBright-Demi
    /LucidaBright-DemiItalic
    /LucidaBright-Italic
    /LucidaCalligraphy-Italic
    /LucidaConsole
    /LucidaFax
    /LucidaFax-Demi
    /LucidaFax-DemiItalic
    /LucidaFax-Italic
    /LucidaHandwriting-Italic
    /LucidaSans
    /LucidaSans-Demi
    /LucidaSans-DemiItalic
    /LucidaSans-Italic
    /LucidaSans-Typewriter
    /LucidaSans-TypewriterBold
    /LucidaSans-TypewriterBoldOblique
    /LucidaSans-TypewriterOblique
    /LucidaSansUnicode
    /LyndaCursiveBold
    /LyndaCursiveNormal
    /Magneto-Bold
    /MaiandraGD-Regular
    /Mangal-Regular
    /MaturaMTScriptCapitals
    /MesquiteStd
    /MicrosoftSansSerif
    /MilanoLet
    /MinionPro-Bold
    /MinionPro-BoldCn
    /MinionPro-BoldCnIt
    /MinionPro-BoldIt
    /MinionPro-It
    /MinionPro-Medium
    /MinionPro-MediumIt
    /MinionPro-Regular
    /MinionPro-Semibold
    /MinionPro-SemiboldIt
    /MirrorBold
    /MirrorItalic
    /MirrorNormal
    /MisterEarlBT-Regular
    /Mistral
    /Modern-Regular
    /Monospace821BT-Bold
    /Monospace821BT-BoldItalic
    /Monospace821BT-Italic
    /Monospace821BT-Roman
    /Monotxt
    /MonotypeCorsiva
    /MS-Mincho
    /MSOutlook
    /MSReferenceSansSerif
    /MSReferenceSpecialty
    /MVBoli
    /MyriadPro-Bold
    /MyriadPro-BoldCond
    /MyriadPro-BoldCondIt
    /MyriadPro-BoldIt
    /MyriadPro-Cond
    /MyriadPro-CondIt
    /MyriadPro-It
    /MyriadPro-Regular
    /MyriadPro-Semibold
    /MyriadPro-SemiboldIt
    /NiagaraEngraved-Reg
    /NiagaraSolid-Reg
    /Notes
    /NuevaStd-BoldCond
    /NuevaStd-BoldCondItalic
    /NuevaStd-Cond
    /NuevaStd-CondItalic
    /OCRAExtended
    /OCRAStd
    /OldDreadfulNo7BT-Regular
    /OldEnglishTextMT
    /OneStrokeScriptLetPlain
    /Onyx
    /OratorStd
    /OratorStd-Slanted
    /PalaceScriptMT
    /PalatinoLinotype-Bold
    /PalatinoLinotype-BoldItalic
    /PalatinoLinotype-Italic
    /PalatinoLinotype-Roman
    /PanRoman
    /Papyrus-Regular
    /Parchment-Regular
    /ParisBold
    /ParisItalic
    /ParisNormal
    /ParkAvenueBT-Regular
    /Perpetua
    /Perpetua-Bold
    /Perpetua-BoldItalic
    /Perpetua-Italic
    /PerpetuaTitlingMT-Bold
    /PerpetuaTitlingMT-Light
    /Phonetics-Bold
    /Playbill
    /PoorRichard-Regular
    /PoplarStd
    /PrestigeEliteStd-Bd
    /Pristina-Regular
    /Proxy1
    /Proxy2
    /Proxy3
    /Proxy4
    /Proxy5
    /Proxy6
    /Proxy7
    /Proxy8
    /Proxy9
    /Prx1
    /Prx2
    /Prx3
    /Prx4
    /Prx5
    /Prx6
    /Prx7
    /Prx8
    /Prx9
    /Raavi
    /RageItalic
    /RageItalicLetPlain
    /Ravie
    /Rockwell
    /Rockwell-Bold
    /Rockwell-BoldItalic
    /Rockwell-Condensed
    /Rockwell-CondensedBold
    /Rockwell-ExtraBold
    /Rockwell-Italic
    /RomanC
    /RomanD
    /RomanS
    /RomanT
    /Romantic
    /RomanticBold
    /RomanticItalic
    /RosewoodStd-Regular
    /SansSerif
    /SansSerifBold
    /SansSerifBoldOblique
    /SansSerifOblique
    /ScreenIPA-Bold
    /ScriptC
    /ScriptMTBold
    /ScriptS
    /SegoeUI
    /SegoeUI-Bold
    /SegoeUI-BoldItalic
    /SegoeUI-Italic
    /ShortHandBold
    /ShortHandItalic
    /ShortHandNormal
    /ShowcardGothic-Reg
    /Shruti
    /SignsNormal
    /Simplex
    /SimpsonBold
    /SimpsonItalic
    /SimpsonNormal
    /SmudgerAltsLetPlain
    /SmudgerLetPlain
    /SnapITC-Regular
    /Square721BT-Roman
    /Staccato222BT-Regular
    /Stencil
    /StencilStd
    /StylusBT
    /SuperFrench
    /SurferBold
    /SurferItalic
    /SurferNormal
    /SWAstro
    /SWComp
    /SWGDT
    /SWGothe
    /SWGothg
    /SWGothi
    /SWGrekc
    /SWGreks
    /SWIsop1
    /SWIsop2
    /SWIsop3
    /SWIsot1
    /SWIsot2
    /SWIsot3
    /Swiss721BT-Black
    /Swiss721BT-BlackCondensed
    /Swiss721BT-BlackCondensedItalic
    /Swiss721BT-BlackExtended
    /Swiss721BT-BlackItalic
    /Swiss721BT-BlackOutline
    /Swiss721BT-Bold
    /Swiss721BT-BoldCondensed
    /Swiss721BT-BoldCondensedItalic
    /Swiss721BT-BoldCondensedOutline
    /Swiss721BT-BoldExtended
    /Swiss721BT-BoldItalic
    /Swiss721BT-BoldOutline
    /Swiss721BT-Italic
    /Swiss721BT-ItalicCondensed
    /Swiss721BT-Light
    /Swiss721BT-LightCondensed
    /Swiss721BT-LightCondensedItalic
    /Swiss721BT-LightExtended
    /Swiss721BT-LightItalic
    /Swiss721BT-Roman
    /Swiss721BT-RomanCondensed
    /Swiss721BT-RomanExtended
    /SWItal
    /SWItalc
    /SWItalt
    /SWLink
    /SWMap
    /SWMath
    /SWMeteo
    /SWMono
    /SWMusic
    /SWRomnc
    /SWRomnd
    /SWRomns
    /SWRomnt
    /SWScrpc
    /SWScrps
    /SWSimp
    /SWTxt
    /Syastro
    /Sylfaen
    /Symap
    /Symath
    /SymbolMT
    /Symeteo
    /Symusic
    /Tahoma
    /Tahoma-Bold
    /Technic
    /TechnicBold
    /TechnicLite
    /TektonPro-Bold
    /TektonPro-BoldCond
    /TektonPro-BoldExt
    /TektonPro-BoldObl
    /TempusSansITC
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /TrajanPro-Bold
    /TrajanPro-Regular
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Tunga-Regular
    /TwCenMT-Bold
    /TwCenMT-BoldItalic
    /TwCenMT-Condensed
    /TwCenMT-CondensedBold
    /TwCenMT-CondensedExtraBold
    /TwCenMT-Italic
    /TwCenMT-Regular
    /Txt
    /UniversalMath1BT-Regular
    /UniversityRomanAltsLetPlain
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
    /VinerHandITC
    /VinetaBT-Regular
    /Vivaldii
    /VladimirScript
    /Vrinda
    /Webdings
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
    /ZWAdobeF
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /SyntheticBoldness 1.000000
  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU (Stephen Austin Distiller settings file V6)
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 822.047]
>> setpagedevice


